50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 1SEC752
Time: 3 hrs. - Max. Marks: 80
1 a. Explain any two IOT conceptlf%il rameworks. (06 Marks)
b. With neat diagram, explain the M2M architecture. (04 Marks)
c. Describe MQTT protocolyyfrof M2M/IOT connectivity. (06 Marks)
2. a
b.
(04 Marks)
C. (06 Marks)
3 - ’ i W
physical layers during, internet communication;” (06 Marks)
b. Explam the functlons of HTTP and HTTPs ports (04 Marks)
C. N l (06 Marks)
4 a. Whatare the features of [Pv4 ’an’d IPv6 protocols‘;} (05 Marks)
b. With neat diagram, explam 6LoWPAN adaptation layer protocol for IEEE 802-15-4 network

N g
b.
6 a.
b.

dev1ce (06 Marks)

(05 Marks)

o ‘M
N ~Modute3
Explain héw ‘Arduino platform is ‘programmed using IDE. (08 Marks)
What is an IoT reference architecture with respect to the function group component.
[1lustrate a threat analy51s tool for analysis during a stride. (08 Marks)
~ OR

Describe how th: data is read from the sensors and devices. (08 Marks)
Explain a layered attacker model with possible attacks and suggest the solutions for

mitigating the attacks on the layers. (08 Marks)
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Module-4

Explain the characteristic requirements for a Wirele

b. With a neat diagram, describe a single node arcHIf%ttire in a wireless sensor networks.

Explain low duty chie and wake-up concepts in*Wireless Sensor Networks.

With relevant diag@r , explain LEACH per@col
State and exgla in nght—Hand Rule to R%Qﬁ?%f Greedy Routing (GPSR).

yo

OR

With'neat schematlc diagram, expla
Explain the SMAC protocol.

Explain how passive clust {@rlnf can be achieved 11’%
£ %&
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(06 Marks)

(06 Marks)
(04 Marks)

(06 Marks)
(04 Marks)
(06 Marks)

(06 Marks)
(06 Marks)
(04 Marks)

(06 Marks)
(06 Marks)
(04 Marks)



